SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| o007
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfePpad 3w : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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The rational number not lying between -1 and -2 is :

(A) 0 B = C  —3/10 (D) —7/25

(A) 0 B = C  —3/10 (D) —7/25

Zero of polynomial p(x) =2x+11is:

1 1
&) -3 (B) -2 © 3 D) 0
TEIR p(x) =2x +1 1 IAH §
1 1
&) -3 (B) -2 © 3 D) 0

If the area of a rectangle is 4x2+ 4x — 3, then its possible dimensions are :
(A) 2x-3,2x+1 (B) 2x-1,2x+3 (C) 3x+1,2x-3 (D) 3x—-1,2x+3
Teh 3TT9d T &R SgUS 42+ 4x — 3 T U ST ©, 3Td i Gunfera fommd & -

(A) 2x-3,2x+1 (B) 2x-1,2x+3 (C) 3x+1,2x-3 (D) 3x—-1,2x+3

Degree of the polynomial 4x*+ 0x3+0x5+5x +7 is :
A 7 (B) 5 C© 4 (D) 3
FGUT 4x4+ 0x3+ 0x5+ 5x+ 7 1 9 € :

A 7 B 5 © 4 D) 3

In a triangle two angles measure (55 +3a)° and (115—2a)°. If each is supplement of the other
thenais:

(A) 10° (B)  20° )  25° (D)  45°
1 IV T T (55 + 3a)° T (115 —2a)° &1 STH YAk 10T TEX HI HIIF RV 1 a1 AF T :

(A) 10° (B)  20° Q)  25° (D)  45°
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10.

11.

12,

AABC = APQR, then which of the following is true :
(A) A o R (B) AB=QR © AC=PQ (D)

AABC = APQR, @ f7= & § e e[ 9 © 2

(A) AoR (B) AB=QR (C) AC=PQ (D)

The perimeter of an equilateral triangle is 60 cm. Its area (in cm?) is :
(A) 103 (B) 100 /3 Q) 1543
T HaTg FIYs &1 IRET 60 cm T 139 B51YS &1 (em2 #) 896 ©

(A) 103 (B) 100 /3 Q) 1543

The area of a triangle whose sides are 13 cm, 14 cm and 15 cm is :

(A) 42cm?  (B) 86cm? (C) 84 cm2 (D) 100 cm?

Ife 1S 1 omd 13 A, 14 F.1fF 3R 15 A, 2, & ST &A% BT -

(A) 42 {2 (B) 86 .72 (C) 84aH? (D)

Section-B

Question numbers 9 to 14 carry two marks each.

Simplify (45 —3v2)(44/5 +3+2).

T HITC (4\/3—3J§)(4J§+3\/§).

Factorise : x2— 12+ 6y —9

UFETE SHITST : x2— 12+ 6y —9

Without actually calculating the cubes, find 553 — 253 —305.

Iqa ° O [ fohT fom1 7 ShifSe ¢ 555 — 253 — 308

In the given figure, find the value of x.

AB=PQ

AB=PQ

(D) 2043

(D) 203

100 .72

Page 3 of 10



13.

T SR H, X T TH T Hif |

In the figure given below, ACBD is a quadrilateral with AC=AD and AB bisects ZA.
Show that AABC = AABD. What can you say about BC and BD ?

=t amfa § ACBD wsh =St € forgi AC = AD 9 AB, A &1 Tmfgiford sear 81 <vifse f AABC
=AABD %1 39 BC 91 BD & fawa & o1 g Tkl & ?

C

OR
AB and CD are the bisectors of the two alternate interior angles formed by the

intersection of a transversal ‘t’ with parallel lines / and m (Shown in Figure). Show that
ABJ|CD.

i H, < guiaT @nsti [ a; m 1 T fads T t wfaeie it §1 afc AB 91 CD 39 FhR 99 ©
T THI IV o TGS ¢ q1 15 Hitsg AB||CD g1
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14,

15.

16.

17.

[ Jus]
‘>\A
—
¢ i
A 4

A

ol
-
T4

3

Plot the points A (5, 5) and B (—5, 5) in cartesian plane. Join AB, OA and OB.

Name the type of triangle so obtained.

fag A (5,5) @ B (—5, 5) = =g aa1 # ameifd witsgl AB, OA @ean OB =i fHemsu 36 &R

fHeraret s @1 y&R fafan |

Section-C

Question numbers 15 to 24 carry three marks each.

Find the value of ‘p’ if 5P =3 x 32P =8 =205

p 1 HH T ey afe 5P~ 3 x 3%P ~8 — 205,

OR
Simplify : 345 — 125 + /200 — /50
WA &ifsd : 345 — /125 + 200 — /50
Represent /2 on the number line.
J2 = HEm T W eia it
Factorise the following : 55 x> +30x +8J5
TOFEUE HITSTT : 55 x> +30x +8J5
OR
If 5+2\/§ = a—«/gb, find the value of a and b if a and b are any rational numbers.
7+4J§
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H&wza—\/@bs‘r,a‘raaﬁtbwmaﬁaﬁmmaﬁﬁwbqﬁﬁa@@qﬁ%l

7 +43

18. Ifx+y+z=0show thatx3+13+2z*=3 xyz

?Tﬁ{x+y+z=0,?ﬁ qelizT TR +18+22=3xyz

19. Ingiven figure, find the value of ZQRP when QP || RT.

ly i
62°
57° .
Q R S

3T g8 ST H, ZQRP &I AM A SIS 516 QP | | RT.
y T
62°
57° .
Q R S

In given figure PQ/|[ ST, then find ZQRS.

S .
Q 130° +
P 1100

R
<& ¢ 3Thfa ® PQ|| ST, ZQRS A =hifsra |

S .
Q 130° +
P 1100

R

OR

20. In AABC, ZB=45°, «C=55° and bisector of ZA meets BC at a

point D. Find ZADB and ZADC.
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AABC#, /B=45°, /C=>55°au: A &1 gafgursies BC &1 D ® faeai 81 ZADB iR
£ ADC 9 sifsT |

21. In given figure find the value of “x’

A

40° 50°
B C D

11 aTrepfa | “x’ 1 A A1G I

A

40° 50°
B C D

22. In an acute angled triangle ABC, Sis any point on BC. Prove that AB+BC+AC>2AS

=TI s ABC # 95 S 4T BC W 8| fg &IST AB+BC+AC > 2 AS

23.  Evaluate using suitable identity 103 X 96.

ST T HeRT 1 WA & (103 X 96) &1 HH F1d HifsIT |

24. Using Heron’s formula, find the area of an equilateral triangle of side ‘a” units.

BRI & T 1 TAN HId gY, 51 ‘a’ THTE aTel Teh FHETG S T &Ahel F0d hielC |

Section-D

Question numbers 25 to 34 carry four marks each.

25.
If x = ﬁ ; ﬁ% and y = % , find the value of X2 +xy +y2.
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ﬁ;\/_ y—m,?ﬁxz+xy+yzao‘rtrﬁ§lﬁaﬁﬁm

OR

If “x" is a positive real number and exponents are rational numbers, simplify :

p1(b+c—a) c1(c+a—b) a1@+b-—0
X x| X x| X
L

Ife ‘x Teh YA ITKifdeh &A1 81 X Sdish aiig Y& 8, d T8 ISy
p1(b+ c—a) c1(le+a-Db) a1@+b-0

X X X

HooE [E

X X X

Find two irrationals between ; and % .

26.
; sir ; 3 o § & s et 9@ FR

27.  The polynomial ax®+3x2—13 and 2x3 —5x +a are divided by x —2. The remainder in each case
is same. Find the value of a.

TGIT ax3 + 312 — 13 TAT 225 — 5x +a i x — 2 T TANToTa F T I THSE1 AT €1 ‘2’ T HH 1
HifaT |

28.  Factorize : 27x3+ 15 + 23 — 9xyz.

UMFEUS HITSIT 2 27x3 + 13 + 23 — 9xyz.

29.
Factorise 21°+ 12— 2y — 1 using factor theorem.

UGS YHT <l FRE H 2y + 2 — 2y — 1 % UHES A BT |

OR
Factorise x4+ x3—7x2—x+6

UMEUE ShITST : x4+ x3—7x2—x+6

30.  Plot the following points

A(5,0), B(—1,2), C(2, —2), D(0,4), E(—3, —3) F(0, —1)

Page 8 of 10



31.

32.

33.

frfafaa fogsti &1 @it aa ¥ Acifad S :

A(5,0), B(—1,2), C(2, —2), D(0, 4), E(—3, —3) SR F(0, —1)

Prove that sum of the angles of a hexagon is 720°.

fag ST foF Tk e & i o1 A 720° g g

In the given figure, if AD is the bisector of Z/BAC then prove that :
(i) AB>BD (i) AC>CD

& T amepfa ®, afg AD 101 ZBAC o1 qHfgSeh B a1 fog shifse o -

(i)  AB>BD (i) AC>CD
A
B D C

In the given figure, ABC is a right triangle, right angled at C, M is the mid—point of
hypotenuse AB. Cis joined to M and produced to a point D such that DM =CM. Point
D is joined to point B. Show that :

D A
M
B C
(i) ADBC= AACB (i) CM=AB

& T aepfa H ABC Tk wHehw By € el i C gHwiv g, M %0i AB s He fag €1 CHRIM @
fieret D a9 YRR Sgrl 1 © fof DM = CM ® 1 fag D =i fog B & fiyem fean e ® 1 swifsd fom

(i) ADBC = AACB (i) CM=AB
D A
M
B C
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34.

Prove that the sum of any two sides of a triangle is greater than twice the length
of median drawn to the third side.

fag ifere for fRat fregst =t g oft <1 oo faereRt JeRt e ae it T8 miftast & g § o< gl 8
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